
Spiel 1 Spiel 2 Gesamt

Spiel 001 15:13 A 04 ACHLEITNER Christian 63 + 66 = 129 # O

A 07 STOLZ Martin 50 + 57 = 107

Spiel 002 15:25 A 05 KÜLLINGER Andreas 62 + 47 = 109 O #

A 03 STOLZ Raphael 43 + 54 = 97

Spiel 003 15:33 A 06 FRÖSCHL Max 65 + 56 = 121 O #

A 02 JURKOWITSCH Thomas 58 + 65 = 123

Spiel 004 15:40 A 01 JURKOWITSCH Marcel 55 + 64 = 119 #

A 07 STOLZ Martin 49 + 54 = 103 #

Spiel 005 15:49 A 04 ACHLEITNER Christian 67 + 59 = 126 # # O

A 05 KÜLLINGER Andreas 49 + 64 = 113 # # #

Spiel 006 15:58 A 03 STOLZ Raphael 62 + 53 = 115 # # #

A 06 FRÖSCHL Max 59 + 52 = 111 O # O

Spiel 007 16:05 A 01 JURKOWITSCH Marcel 43 + 52 = 95 O # #

A 02 JURKOWITSCH Thomas 44 + 52 = 96

Spiel 008 16:14 A 07 STOLZ Martin 54 + 50 = 104 O # #

A 05 KÜLLINGER Andreas 62 + 59 = 121 # #

Spiel 009 16:23 A 06 FRÖSCHL Max 55 + 54 = 109 O #

A 04 ACHLEITNER Christian 58 + 60 = 118 O #

Spiel 010 16:32 A 03 STOLZ Raphael 55 + 56 = 111 # #

A 01 JURKOWITSCH Marcel 55 + 62 = 117 O # #

Spiel 011 16:43 A 02 JURKOWITSCH Thomas 50 + 36 = 86

A 07 STOLZ Martin 51 + 57 = 108 #

Spiel 012 16:51 A 05 KÜLLINGER Andreas 69 + 61 = 130 # # # #

A 06 FRÖSCHL Max 55 + 60 = 115 O

Spiel 013 16:59 A 01 JURKOWITSCH Marcel 54 + 52 = 106 #

A 04 ACHLEITNER Christian 53 + 63 = 116

Spiel 014 17:09 A 02 JURKOWITSCH Thomas 47 + 52 = 99

A 03 STOLZ Raphael 53 + 51 = 104 O



Spiel 015 17:17 A 07 STOLZ Martin 52 + 68 = 120 # # #

A 06 FRÖSCHL Max 59 + 63 = 122 O # O O #

Spiel 016 17:28 A 05 KÜLLINGER Andreas 60 + 54 = 114 # O O

A 01 JURKOWITSCH Marcel 50 + 60 = 110 O

Spiel 017 17:36 A 04 ACHLEITNER Christian 55 + 64 = 119 O # O #

A 02 JURKOWITSCH Thomas 56 + 53 = 109 # O

Spiel 018 17:46 A 03 STOLZ Raphael 52 + 61 = 113 # O

A 07 STOLZ Martin 70 + 50 = 120 O # # O O

Spiel 019 17:57 A 01 JURKOWITSCH Marcel 63 + 57 = 120 # # #

A 06 FRÖSCHL Max 63 + 60 = 123 O # O

Spiel 020 18:06 A 02 JURKOWITSCH Thomas 52 + 45 = 97 #

A 05 KÜLLINGER Andreas 54 + 55 = 109 O

Spiel 021 18:12 A 03 STOLZ Raphael 52 + 65 = 117 O # O

A 04 ACHLEITNER Christian 62 + 56 = 118 O #


